(3hours)

N.B.: 1. Answer any four questions.
2. Figures to the right indicate full marks.
3. Use of scientific calculator is permitted.
4. Assume suitable data if necessary with justification. .

—5x + 12z =80; 4x—y

If necessary, make sure to rearr ing
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4. a) The population of a town is as follows:

Year (x) 1941 | 1951 | 1961

Population (y) in lakhs 5 7 10

Estimate the population increase during the p

b) The latent heat of vaporization of steam L, i
different temperatures t:

t 1[40 [50 |60
[ [1069 [1063 | 1058

100 [110 ]
¢ is known to fit the

10

10

Sy 2 G,iVéxﬁhm,
g u(o, y=u3y)=0 taking h = k = 1. 10
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